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The Mother’s International School
Mid-term Examination (2024-25)

Subject- Mathematics
Class-IX
Date:17/09/20%4
Time: 3 Hours M.M: 80
General Instructions:

This Question Paper has 5 Seclions A-E.

Section A has 20 MCQs carrying 1 mark each

Section B has 5 questions carrying 2 marks cach.

Section C has 6 questions carrying 3 marks cach.

Section D has 4 questions carrying 5 marks cach.

Section E has 3 case based integraled units of assessment carrying 4 marks each.
All Questions are compulsory. However, an internal choice in 2

Questions of 2 marks, 2 Questions of 3 marks and 2 Questions of 5

marks has been provided.

8. Draw neat figures wherever required. Take T =22/7 wherever required if not stated.

No o s wN

SECTION — A (1 Mark» Each)

1
1. Th — V10 = i
e value of 7 when V10 = 3.162 is

a)0.3162  b)31.62 «¢)0.03162 d)316.2

2. Which of the following statements is true?
a) 1 and 22/7 are both rationals
b) 7 and 22/7 are both irrationals
c) mis rational and 22/7 is irralional
d) m is irrational and 22/7 is rational

3. AOB is a straight line, then x is

wv?m'zxw;

A 0 B

a) 29 b) 30 c) 31 d) 28

4. The perpendncular distance of the mirror- lmage (wnh respecl to x axns) of the point
P(4 3) from the yax|s isaia b

a3 Ui % b) 4 Unils c) 5 Units d)—3 Units
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5. Which of the following is a polynomial?
xX*.: .2 v2 2 i
& Nk O o =

a) S h) Ny 1 c) x% = d) =
6. Anisosceles right triangle having an area of 8 cm?. The length of its hypotenuse is:

a)MZcem  by2V3em c) 443 cm d) 4cm.
7. Find the remainder when x® — ax?+ 6x — a is divided by (x — a).

a) 6a b) 5a” c) 5a d) 6a®
8. The supplementary angle of the complementary of 25° is

a) 135° b) 125° c) 115° d) 65°
9. If the height of an equilateral triangle is doubled, the ratio of new area to the original

area is

a) 1:2 b) 2:1 c) 1:4 d) 4:1
10. There is a number x such that x? is irrational but x* is rational. Then x can be

a)5 b) 2 c) V2 d) V5
11. In figure, PQ |} AB and PR || BC. If zQPR = 102°, determine 2ABC.

P Q
o—>
102°
— B
C
R
a0 b7 gam d) 920

oy 8 ‘-12 Wh!ch of the followmg Ime is perpendlcular to X ax15’>

) Xk y-2 b) 2y+5=0 )3x+1 0 d) 2x-5y-

i s
LA 13 Wthh of the followmgg a blnomnal of degree 50

AE-5T )-GO o) g0dys gy
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14. Which of the given statement(s) are true?
(i) Point (3, 0) lies in the first quadrant.
(i) Points (1, —1) and (-1, 1) lying in the same quadrant.
(ili) The coordinates of a point whose ordinate is — ¥ and abscissa is 1 are (1, - %2).

(iv) A point lying on the y-axis at 2 units distance from the x-axis. Its coordinates are
(0, 2).

a) iiandiv b) i and iii c) iiandiii d) iii and iv
15. The Value of (256)*'6 x (256)°%9 js

a)4 b) 16 c) 64 d) 256.25
16.1f a straight line falling on two straight lines makes the interior angles on the same

side of it, whose sum is 120°, then the two straight lines, if produced indefinitely,
meet on the side on which the sum of the angles is

a) less than 120° b) equal to 180° c) greater than 180° d) is equal to 120°

17.1f f(x) = x2 - 5x + 7, then evaluate f(2) - {(-1)

a) 1 b) 14 c)-12 d) 10
18. ABC is an equilateral triangle as shown in the figure. Find the coordinates of its

vertex A.
y
I\A

X" = o = > X
N -« |6 —> i

\f’
y

a) (0,3V3) b) (3,0) c) (0. V3) d) (3v3,0)

Directions: In question 19 and 20, a statement of Asssertion (A) is followed by a
statement of Reason(R).

Choose the correct option.

(a) Both assertion (A} and reason (R) are true and reason (R) is the correct
explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A). ‘ '

(c) Assertion (A) is true but reason (R) is false.
! ' dEpt ‘ Page3 of 8
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(d) Assertion (A) s false but reason (R) is true.

19. Assertion: Every point on the perpendicular bisector is equidistant from the end
points of the line segment.

Reason: Every line segment has one and only one mid-point.
20. Assertion: If (3t =1,2p+4) is a solution of the equation 2x+3y = 6, thent=-p

Reason: A linear equation in two variables has infinitely many solutions.

SECTION — B (2 Marks Each)
21. In the given figure, X and Y are the mid points of AB and BC respectively, BX = BY.

Show that ABC is an isosceles triangle. State the axiom used.
8

OR

In the given figure, we have £ABC = 2ACB, 23 = £4. Show that 21 = £2. State the
axiom used.

22. Atriangular field is in the form of an equilateral triangle with height 20y3 m. Find
the total number of flower beds that can be prepared in the field if each flower bed
needs 500cm? space. (use ¥3=1,73) '

OR

Find the area of a nght angled triangle If the radnus of its cnrcumcurcle is 3 cmand
altitude drawn to the hypotenuse is 2cm.

‘Pagedaf8
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23. In a triangle ABC, AB = 15cm, BC = 13cm and AC = 14cm. Find the area of triangle
ABC and hence its altitude on AC.

24 Verify whéther the indicated numbers are the zeros of the given poiynomial or not.
2 -2
g(X)=3X2=:-2,X=ﬁ, 7

25. Show that AB|| EF

SN
4

D

SECTION - C (3 Marks Each)
.26. Represent V4.7 geometrically on the real number line.

'27. Plot the points A(- 2, 2), B(3, 2), C(3,4), D(-4, I—4). Join the poihts in order. Find
the area of the figure obtained. ..

28. If 2x+y = —5, prove that 8x>+ y® — 30xy+125=0. -
OR ) .
If v + Yn—/p = 0, then find the value of (m +n— p)2.
29. Factorise 125 (x — y)® + (5y — 32)° + (3z — 5x)*

30. POQ is a fine. Ray OR is perpendicular to line PQ. OS is another ray lying between
rays OP and OR. Prove that ZROS = Y2 (£QOS — £POS).

" 31, Two parallel lines | and m are intersected by transversal p. Show that the
-+ quadrilateral formed by the bisectors of the interior.angles is a rectangle.
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35. Draw a graph to represent the linear equation 3(x — 6) + 4y = 6. Find the perimeter
of a triangle formed by the line and both the axes.

OR

4 . 4(x—1
Draw a graph to represent the linear equation % =1—vy. Find the area of a

triangle formed by the line and both the axes.
Case Study
SECTION - E ( 4 Marks Each)

36. Walls of the triangular park in a society is being used to spread motivational
messages like, a) “Make each day your masterpiece”, b) “Impossible is justan
opinion” ¢) “Be happy — it drives people crazy. "The perimeter of a triangular park is
50 m. The length of one side of the triangle is 4 m longer than the smaller side, and
the third side is 6 m less than twice the smaller side.

Using above information, calculate

0] length of each side.

(2)
;(ii); area of a triangular park.

()

3 37 Raw isa dellvery boy. He rides scooter on all working days. The distance covered
~on scooty is 10(v32 + V48) Km. Assumlng that he rides at the uniform speed and
- takes the tlme (\/'_ +,/12 hours, '
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() Find the speed of the Scooter. Simplity the exprossion., (?)

U Hind v rationat number and andirational number between Vo and V6, (2)

S Tme Minister's National Relief Fund (also called PMNRF in short) is the fund
taised 1o provide suppart for people affected by natural and man-made disasters.
Natural disastors that are coverad undor this include flood, cyclone, earthquake etc.
Man-made disasters hat are included aro major accidenls, acid atlacks, riots, etc.

Siya contributed 10 loss than twice the amount Amrit contributed. Both of them
togethor contiibuted X 200 lowards Prime Minister's Relief Fund. Answer the
following:

i) Represent the above situation in linear equation in two variables taking ‘x’ and
'y as the amount contributed by Siya and Amrit respectively. (1)
i i) For what value of k, coordinate point p(k, 2k) satisfies the above linear equation in

L

g )} Expféss"lihear equation x = —i in Standgrd form Write the value of a, b, c.  (2)

e ENQ
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